ADDITION +

4 Counting a variety of concrete resources including everyday objects. Combine groups of \
objects or pictures and count altogether to find the total.
evrs | [%90) 00000
3+2=5H
@ 9 000 00 :-:-5
. J /
4 Jumps on a number line by partitioning a 1 digit number using a part-part-whole to support. N
eg8+5=130r27+7 =34
YEAR 1 Ensure children receive a diet +2 +3
of concrete, pictorial and
\_ ) abstract stimuli. 10 13 J
4 ) Expanded column method 3 3 \
eg33+8=41 + 8
YEAR 2 | Moving on to adding 2 digit numbers, e.g 26 + 32 = 58 11 3+8=1l
3 0 30+0=30
See webinar for supporting pedagogy.
4 1 /
- J
4 Compact column method. See webinar for supporting pedagogy. 1 N
,26
YEAR 3 6 5
1 21
K e —— j
( Compact column method for whole numbers. \
Expanded column method for decimals.
7 2. 8
+ 5 4. 6
1. 4
YEAR 4 1o
356 + 465 = 821 3 56 72.8+54.6=127.4 . 6. 0
+ 4 65 SN
8 2 1 1 2 7. 4
N ) -/
Compact column method for whole numbers. 10 4 - )
Compact column method for decimals. 3259 72.8
YEAR5 + 7698 + 54.6
3259 + 7698 = 11,057 11057  728+546=1274 127.4
J
Compact column method. Compact method used with decimals of increasing difficulty, e.g
728 +546=1274 13.86 + 9.481 = 23.341
YEAR 6 7 2 8 then... 1 3. 8 6
+ 5 4. 6 + 9 . 4 81
1 2 7. 4 2 3. 3 41
N J 1 ‘ T /




SUBTRACTION

4 A Taking away everyday objects and count how many are left. N
T 000-00 =0 3-2-!
N J /
4 ) Using a number line to find a small difference, Use a number line and partition numbers to )
egl2-10=2 ) subtract, counﬂng backwards, eg15-7=8
YEAR 1 -2 ad
. _{\/\
L )1 12
4 A Expanded column including exchange e.g 38 - 19 = 19. See webinar for supporting pedagogy.
S
YEAR 2 N
10 9
- / /
-
Expanded column then 238 - 119 = 119 1
compact column method. . 874 9‘\:\2
YEAR 3 | See webinar for supporting pedagogy. 200 3Q 8 . 523 . 537
- 100 10 9
L 100 10 o 351 415
4 Compact column for whole numbers. Expanded leading to compact for decimals. \
63-21=42 1-24=-3
9 952 o4 2d=37
YEAR 4 s, o o %1
B 20 o1 2.4
2415 40 02 3. 7
N J I —— /
4 ) . \
Compact column method for whole numbers. Compact column method for decimals.
9952 - 7537 = 2415 728 -546=18.2
1
YEAR 5 9952 °% 2. 8
- 7537 - 5 4. 6
2415 L 8.
N y — J
4 ) . . . e
Compact column method. Compact method used with decimals of increasing difficulty
112 111
2325
YEAR 6| 2325-1568= 757 . 1568
757
- J j




DIVISION +

4 N
Sharing. 6 sweets are shared between two people. How many do they each have? \
YEAR 1 D:/QDCQDCQ T e
/EYFS
Grouping. Children sort objects into 2s, 3s, 4s, etc. For example, how many pairs of socks are
there? =S
A5 P
. /
4 R Grouping / chunking using a number line, eg 6 +2 =3 R
AR 2
YEAR /22X ¥ 2 xQy 2 XQy
(. /0 2 4 6 J
( A Grouping / chunking using multiplication facts (x10, x5, x2) with & without remainders. R
VEAR 3 74 +4:=18r2
T XN 20N 4D A x(DY r2
\_ ) 0 40 60 68 72 74 )
4 . - 2 2 2
Vertical chunking. N Short Division
120 exz)
222+ 6 =37 ™o 2 - e =
- 60 6 x @ 1 4
YEAR 4 Number facts: 42 | 2
: (B 719 8 o5 =
6 x20=120 - _ 30 6X\§j 432 +5=86 r2
6 x 10 = 60 1 2 8 6 2
6x5=30 1 2 ex(2) =
6x2=12 = 514 3% /
. J 2
4 N
Short division. Vertical chunking method (see Year 4) transitioning into long division when
children are conceptually secure with chunking. Chunking for decimals.
496 + 11=45r1 965+ 5=193 | ¢ 3 432 +15=28r12 2 8 ri2
4 5 rl 5|961 15|431
1nla 9% -9°5 -3 0
YEAR 5 1 5 1 3 2
-1 5 -1 20
0 1 2¢
28.8+16=18
/16 XON 16 By 16 Xy 16 XDy
\_ ) 9 16 24 272 28.8

Short and long division with numbers of increasing complexity. Methods as Year 5.

YEAR 6




MULTIPLICATION X

4 Counting groups of the same size. There are 3 sweets in one bag. How many \
- sweets are there in 5 bags? 3 x5=15
808
SO0
YEAR 1 3 multiplied by 2
Columns: S
2+2+2 l
2 multiplied by 3
\_ ) 2x3=6 /
4 B
Children use arrays, repeated addition and the number line: \
XXX TN
Rows: 0 4 8
4+4:=8
YEAR 2 ‘ ‘ ‘ ‘ 4x2=8 Then move on to the grid method multiplying
Columns a2d|g|1'r:m\be/r,fp/15x2:30
2+2+2+2=8 or xilo i 5
= 2 120 10 =30
Y ) 2x4=8 /
4 ) 6rid method. Eg 84 x 4= 336 )
— x
YEAR 3 x | 80 | 4
=336
Short multiplication (i.e multiplying by a single digit) for whole numbers. Continue to use grid
method for decimals.
24 x6=144 > 4 342 x 7 =2394 342 73x6=4338
YEAR 4 x |7 | 03
x 6 X 7 | |
- - 6 | 42 1.8
144 2394
2 2 1
Y ) Encourage pattern spotting with your child,e.g6 x 3 =18 s0 6 x0.3=1.8 /
e ) . o i \
Long multiplication (i.e multiplying by more than 1 digit) for whole numbers and short
multiplication for decimals. 1 -
12 4 3.2 4
124 x 26 = 3244 2 6 X 6
YEAR 5 RN 19.4 4
74 4 to2
324 4
- / ! /
4 h Long multiplication of 3.2 4 132 4 \
whole numbers and decimals. ’ > 6 X 2 6
19.4 4 79 44
YEAR 6 6 4-80 26480
12 1 1 2
8 4.2 4 34424
Y ) T 1 T 1 1 /




